V2 A Aot SIm % s T e B B ool

Bo-



2. Px)e-Vx<n<0Q AFn gt & o, P(16) - P(2.5) 9
= kot

B e 7



3. o R/ F Rest BE F Al Fofele,

[11]
H7]
5492, —1+ V1, 3.14, — V16, &, 22— V3

> EE A



3







4 x7F a2t 2 W, a 9] gL& F-ShefEth



TS A = 2a% — dab, B = a?b — 2a o g Aotk &

7.

ol

mj
)
b

el
™

@ A A 2a =

O B9 d4Eatab-2 2 BT 2 o]},
© A ¢ B 9] 353 AE a? ol

ON@E) ® 90

ONQ)
@ 0,0

® 0,006



oju

e

il

olJ
TK

9

[ ool 47h 7k 2 e

@ 4x2-[ [k+25
@ x2+18x+[ ]

@ x2-12x+[ |
® 9x2—|—Dx+1
® x®-[ Jx+100



9.

o2 B7] 5 o4 242 + 5x + 2 & FE 2 IS

RE &g 7|2z Azt

(1]

H7]

@ ¥ +10x+25 O x2+4+3x-10
© 5x2-5 @ 2xy+y

@ 4x* +4x+1

5 J=X
=%
=

=F



10. F 4 2 —xta, 26~ br-12 €] FF4 57 x-3 oleh &
o, a+b ] G227

@ 2 @ 4 ®7 @ 8 ®9



11.

&% 7 gko] WA 3t o she

O -ve @ (- iy
® -



12. A=5v2-2,B=3V2+1,C=4vV3-22 1, t}& & th4 A}
2 A7
O A>B>C @ A>C>B ® B>A>C
@ B>C>A

® C>A>B



w
|
N
—
O+
—
w
I

©)
S
_|_
Mo
w
|
&
o
o
o
r
i
<
o
ﬁ
_?L
I

@ @ Be}t A D Afole] A4k w370t}

® 2v5+ 2+ & Doll o8&tk



V7) o gt Fafedet.



® 13



16. (-2x+5y)(2x+5y) — (

4
® —§x2 + 29?2

1
—x+2
3x+ y

) (5

—X -

3

4
@) —§x2 + 16y?

@ —%ﬁ + 25y? ® —%ﬁ + 29y?



17. (x+3)(3x-4) =3x>+Ax+ BY o], A - BO] & F5H?

O 12 @ 14 ® 15 @ 16 ® 17



18. thg 13t o] AT Fi] Hxj2tF ] Holi?

12b
!
)
]
5a
\
\
\ 3b
Tt~~7aq---"
D 2542 + 9b? @ 2542 — 10ab + 4b>
® 3542 — 3ab + 16b? @ 35a% — 21ab + 6b>

® 3542 — 29ab + 6b>



19.

w

(

x =2y +2)(5x + 2y - 2) & AMANA 2y, yz, 2x 2] A2

©
!

m&v

@2 @10 @2 @3 040



20. (x-4)(x-2)(x+1)(x+3)-25 =Ax* + B3 + Cx? + Dx+ E¥
™, A+ B+ C+ D+ E2 3= FotH?

® -2 @ -1 ® 0 @1 ® 2



21.

ohg % Fol o] Akt el 8] ste] o8
B4 B0 HYSH e AL

® 912 - (a+b)? = a® + 2ab + b*
@ 597 - (a - b)? = a® - 2ab + b?
@ 1032 > (a + b)? = a® + 2ab + b
@ 84x75— (a+b)(a-b)=a®-b*

® 50.9%49.1 = (a+b)(a-b) = a*> - b*

2~
T

o]
AR

L
=



22, X*4ax-12=(x+b)(x+4), ¥*-5x-c=(x+3)(x+d) & i,
a+b+c+de=? (a, b, c, d =45F)

® -12 @ 14 ® 20 @ -28 ® -34



23. o AolA A+ B+ C 9] g7
(x+A) (Bx+3) =2x2+Cx—12

O -14 @ 0 ®7



24. 0 <a <12, 52T &2 A2 AW

H7]
@ a < Va @a<2
© V& =a @2<\/a

@ itk @ 170 @ 274 @ 374 ® 4 7



2 227

7 A} A RS

o =
=R

25. ot



26. o2 1o +AA 99 A A, B, C, D o g5t 5 47
g (& RE ke

a,b,c,d AL G, (b+d) - (a+c) B2 5t
3 #e] Zo)7} 1 9l Az olct)




27. 8VIIx |20 & Arste] 2F kel 47k A HE 47} HER
aVb 22 el T, a - b O S T2

D1 @ 3 ® 5 @ 7 ® 9



8
S

o] B
TN
T X
g
R
fife)
& 2
o 0 .
o T W
s 8
N
< T
o ml W
== o]
=W
D B
TR

~ Tl
oy X1
ojp ®° ol

M a7

28. o



29.

d 01, 02 7HA A

Atk @ 0; 9 HtxEol a, ¥ 02 9
WA go] p o W, AT 0] HolS a o} 2

AL g3te] ek 7

DOn (3a2 +3b% + 8ab) @ 8nab

@ nab

® 2nab

®n (2612 +2b% + 8ab)



30. (x-2)x2-3(x-2)x—-10(x-2) & SFE3|stHA?

D (x-2)(x-5)(x+2) @ (x=2)(x+5)(x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)






CU
e ol

T

@ x®+x-1 ® x>-2x-1

DO x-x+1

® x*-x+9

@ x>-x+3



33. = A #2?

2 (3192 - 181?)
372 — 132

@71 @ 86 ® 98 @ 115 ® 138



